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So, AXYZ is not a right triangle by the Converse

of the Pythagorean Theorem. The point Q needs to 18. ALKJ ~ AKMJ, ALKJ ~ ALMK,

be above or below PX. By Theorem 3, A XPQ is AKMJ ~ ALMK 19. KM 20. about 67.8 cm
acute. So, O has to be in either Quadrant IT or III. Practice Level C

Lesson 7.3 Use Similar Right 1. AFED ~ AFGE ~ AEGD; EG
Triangles 2. AMQP ~ AMNQ ~ AQNP; NO
3. ARST ~ ARUS ~ ASUT; RS

Teaching Guid
caching Buide am=45.1=3V6 6.k=4 7.w=6

1. ABCD ~ AACB, AABD ~ AACB,
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ABCD~AABD 2.about 72 ft 8.y=3 9.a=14 10.ye5; 115
3. about 12.1 ft, about 4.3 ft 1. yes; 17.7 12.no 13.4C = 34,BD = %
Practice Level A 14..4C = V30, BD = 15V2
1. AABC ~ AADB ~ ABDC 2
2. ATSR ~ ATWS ~ ASWR 15.4C = @ .BD =2V14
3.
R o 16. 1. Given; 2. Geometric Mean (Altitude)
R Theorem 6; 3. Given; 4. Substitution; 5. Solve
i C A B 8 t for UZ; 6. Pythagorean Theorem; 7. Solve for YZ;
8. Substitution; 9. Simplify
4 5 w 17 Samp]e Answer:
w
Because 22 ,(BC}Z = (CB)? = 4B « BD.
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Lesson 7.3 Similar Right S8 58

Triangles, continued
B 11.72.6 mi 12.20§mi
2 —
Because —~ e AD’ (AC) AB « AD. 5

(ACY _ AB+4AD _ 4D
Therefore, BCP =4B-BD - BD"
18. AC = x\/x? + y?; BC = y\x*> + y*; CD = xy
Study Guide

i =242
1% 2. % 3.4V5 a.5V6 Solving for ¢, ¢ a* + b

Problem Solving Workshop: Le_sson 7.4 Special Right
Worked Out Example Triangles
1.195ft 2.about3 m Teaching Guide

Challenge Practice 1r= 5\’§ﬂ, s 2
1.PR=125,0S = 12 2.x=a\3fy=8ftz=8V3f

2. By Theorem 7, Investigating Geometry Acti

744 AM
471872018

il ) & fil





